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Q1. Match the following columns by using your addition and subtraction skills. 

COLUMN   A COLUMN   B 

A. The sum of the greatest 4-digit 

number and one is 

i. 20,000 

B. 10 thousand and 500 more can 

be written as 

ii. 5 

C. 50,005 – 50,000 iii. 10,500 

D. 30,000 + 45,000 iv. 10,000 

E. 95,000 - 75,000 v. 75,000 

 

       (A____,   B____ ,   C____, D______, E_____) 

 

Q2.  Fill in the blanks with the correct answer. 

a) 10,000 and one more is equal to  ___________________ 

b) 10,000 – 1    =   _____________ 

c) ______________ + 0 =    25, 555 

d) 50,000 – ______ = 50,000 

e) 8,000 + 7,000 =   ________  

f) 80,000 - 5,000 = ____________ 

g) The number which is 4,500 more than 5,500 is ____________ 

h) The difference between the greatest five - digit number and the smallest six- digit 

number is ________ 
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Q3. Solve the following. (Use regrouping wherever needed) 

A)       B)  

TTH      TH H T O 

     

  3 7 5 3 2 

  2 2 5 1 2 

     

 

C) Find the difference between 50,999 and 35,600. 

TTH TH H T O 

     

     

     

     

  

D)  Mr. Roy deposited Sixty thousand rupees in the bank on Monday and Three 
thousand rupees on Tuesday. How much money did he deposit altogether? 
_______________________________________________________________________ 

_______________________________________________________________________ 

_______________________________________________________________________ 

_______________________________________________________________________ 

_______________________________________________________________________ 
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E) What answer will you get on adding 500 to the number shown by the picture 

of the abacus given below? 

  

     Ans ________________________ 

 

F) Subtract the number shown by the given abacus from 96,999?  

   

Ans ___________________________ 

G) Ritu has done this subtraction. Check whether she has done it correctly?  

    

 

 

 

       Do the working here 

Do the working here 

 

+ 

TH        H          T          0 
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H) Solve the following word problems. 

a)  The population of Town A is 35,700 and the population of Town B is 45,340.  What is 

the difference in the population of both the Towns? 

 

b) A newspaper factory printed 15,575 newspapers in the morning and 20,899 newspapers 

in the evening. How many newspapers were printed on that day? 

 

 

 

  

  

  

  

  

Ans:  

  

  

  

  

  

Ans:  
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Q4) Observe the numbers shown using Dien’s blocks.  Write them down carefully 

and then add or subtract. 
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